
TSS-FMK4000
Owner’s Guide

TOTAL SPEAKER SOLUTIONS

TSS-4000

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 1



2 TSS-FMK4000

INTRODUCTION

The TSS-FMK4000 allows you to recess a TSS-SAT4000 or 
TSS-CENTER4000 into the wall. When installed, the speaker 
will extend beyond the wall approximately 1."

Unpacking the Components
Finish unpacking the flush-mount kit and check the contents. If
you suspect damage from transit, report it immediately to your
dealer. Keep the shipping carton and packing materials for
future use.

Contents
Please verify that the package contains the following items:

(1) 3/16"-Thick Cardboard Template

(1) Speaker Frame

(2) End Brackets

(2) Mounting Blocks

(2) Sealing Strips

(4) #8 x 1" Flat-Head Wood Screws

(4) #8 x 1-1/8" Pan-Head 
Wood Screws

(2) 1/4-20 x 3/4" Flat-Head
Machine Screws

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 2



3TSS-FMK4000

Step One
Remove both end caps of the speaker by unscrewing the single
center screws.

Step Two
Attach both of the end brackets to the speaker ends with the 
1/4-20 x 3/4" flat-head machine screw, as shown.

End Bracket

End Bracket

1/4-20 x 3/4"
Flat-Head
Machine Screw

1/4-20 x 3/4" 
Flat-Head Machine Screw

Speaker

End Cap

Center Screw
1/4-20 x 3/4" Screw

Important Notes:
1) In order to horizontally flush-mount the TSS-CENTER4000 in a wall
with standard 16" spacing between the studs, some modification to
that area of the wall will be necessary.This type of installation will
require a professional licensed contractor to install horizontal braces
that comply with the customer’s local building codes.
2) For a satellite installation, follow all the steps but cut the hole 
in a vertical direction, perpendicular to the floor. See exploded view
on page 7.

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 3



4 TSS-FMK4000

Step Three
After you have found the correct placement on the wall for the
speaker, use the template provided to draw the exact-sized hole
required. Make sure to use a level when positioning the template
to ensure that your installation is level.Then cut out the drywall 
to create the hole.

Step Four
Place the mounting blocks inside the hole at either end. Use two
#8 x 1" flat-head wood screws to secure them in place.

(4) #8 x 1" 
Flat-Head 
Wood Screws

Screw Holes

Wall

Template

Mounting Block

Mounting 
Block

NOTE: The hole for 
the speaker should be 
22-1/2" x 4-3/8."

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 4



5TSS-FMK4000

Step Five
Attach speaker wires as described in the speaker’s owner’s
manual and, using four #8 x 1-1/8" pan-head wood screws
provided, screw the speaker assembly into place, making sure
that the screws anchor themselves into the mounting blocks
behind the drywall.

Step Six
Apply the sealing strips to either side of the speaker to cover the
remaining openings of the cutout in the drywall.

(4) #8 x 1-1/8" 
Pan-Head 
Wood Screws

Sealing Strip

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 5



6 TSS-FMK4000

Step Seven
Remove the paper cover from the gasket on the speaker-facing
side of the frame. Place the frame over the in-wall assembly and
snap it into place.

Remove Paper Cover
From Gasket

Frame

Center Speaker In-Wall Installation

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 6



7TSS-FMK4000

Satellite Installation Exploded View
For satellite installation, repeat the steps but cut the hole in 
a vertical direction, perpendicular to the floor.

Satellite Speaker 
In-Wall Installation

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 7



© 2004 Harman International Industries, Incorporated
Infinity Systems, 250 Crossways Park Drive, Woodbury, NY 11797 USA  516.674.4INF (USA only)
www.infinitysystems.com 
Infinity is a registered trademark, and Total Solutions is a trademark, of Harman International Industries, Incorporated.
Part No. 400-OMINKIT 10/04

Infinity continually strives to update and improve existing products, as well as create new ones.
The specifications and construction details in this and related Infinity publications are therefore
subject to change without notice.

INFP1614tss4000FMK-OM  10/29/04  11:39 AM  Page 8



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


